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g`pqOH qeqJAp²¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 6 \¥²y¾ + 1 ²¾Hfy 
h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 26 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 6 printed pages + 1 Map.  

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 26 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) qBg \of²¾ \§Wc ²¥¾v Mpc I¥Tp£ qeM e¥qTAp qJAp h± & I¥T A, I¥T ^, 
I¥T g AWy I¥T Y & 

(ii) qBg \of²¾ \§Wc qeM Htd 26 \of²¾ h²¾ & 
(iii) gpcy \of²¾ kcvcr h²¾ &  
(iv) hc qBH \of²¾ Yy gp ª̀Vy Eg Yy A¥H qY§Wy h}By h²¾ &  
(v) \of²¾ g¥qIAp 1 W~ 7 W§H ^htW N}Ry E¨Wc epdy \of²¾ h²¾ & hc qBH 

\of²¾ 1 A¥H Yp h± &  
(vi) \of²¾ g¥qIAp 8 W~ 18 W§H hc qBH \of²¾ 3 A¥H Yp h± & qB²¾ªp£ qe§M} hc 

qBH \of²¾ Yp E¨Wc 80 f^Yp£ W~ qkApYp ²¾hs h}Vp MphrYp h± & 
(vii) \of²¾ g¥qIAp 19 W~ 25 W§H hc qBH \of²¾ 5 A¥H Yp h± & qB²¾ªp£ qe§M} 

hc qBH \of²¾ Yp E¨Wc 100 f^Yp£ W~ qkApYp ²¾hs h}Vp MphrYp h± & 
(viii) \of²¾ g¥qIAp 26 `p²¾qM§Wc g¥̂ ¥Zr \of²¾ 5 A¥H Yp h± & qBg Yy Y}  

_pJ – 26 (A) AWy 26 (B) h²¾ &  26 (A) 2 A¥H Yp qBqWhpg ²¾pd AWy 
26 (B) 3 A¥H Yp _vJ}d ²¾pd g¥^¥ZW h²¾ & `p²¾qM§Wc Yp \of²¾ \vcp 
HcHy Ap\Vr E¨Wc \tgWH ²¾pd ²§¾Xr Hc} &  

I¥T A 

1. fqhc Yy A`rc \qcepc Yr qBH dmHr Yy dBr qeHpg Yp RrMp Hr h} gHYp 
h± ? 1 

Op£ 
A`rc qHgp²¾p£ Yy dBr qeHpg Yp RrMp Hr h} gHYp h± ? 1 

2. PpcI¥T qeM IpVp£ Yr ItYpBr Yy H¥` qHez _~-AZ}JWr (ZcWr qeM qJcpeR) 
dBr Ot`zepc h²¾ ? 1 

Op£ 

JtOcpW qeM eZycy \fvMpc²¾ _~-AZ}JWr Yy dBr qHez Ot¥`yepc h± ? 1 

3. N\pBr ( t̀YcV) atJ W~ \qhdp£ _pcW qeM YgWpeykp£ Yr Itdªr ecW~ qHE¤ 
²¾hr HrWr Op£Yr gr ? 1 

Op£ 

_pcW qeM erhes gYr Yy `tUdy YhpqHAp£ qeM qBgWorAp£ AWy ^§qMAp£ ²¥¾v 
²¾ped \mª²¾ W~ ecqOAp qHE¤ Op£Yp gr ? 1 
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4. gor d¥Hp qeM Kcydv Ip²¾p O¥Jr (qged epc) qHE¤ ftcv h}Br ? 1 

5. 1815 qeM qOApYpWc ‘cvmrepYr fpg²¾ \§ZWrAp£’ ²y¾ ³cp£grgr Hcp£Wr ²¾pd 
Otmr Np\r h}Br g`Jcr Wy Hp v̂ cIV Yy dBr g|gcqf\ Yy q²¾a` qHE¤  
^VpBy ? 1 

Op£ 

1907 qeM qeaW²¾p` qeM ‘R~qH²¾ ³cr gHvd’ qHE¤ I}dªy JBy ? 1 

6. Yvgcy IyWcH YrAp£ ApcqXH gcJc`rAp£ Yy Y} EYphcV qYG & 
2

1
+

2

1
=1 

7. ^ht cpfRcr H¥\²¾rAp£ qHez YvgcrAp£ H¥\²¾rAp£ ²¾pd~ e§I h²¾ ? 1 

I¥T ^ 

8. _pcW qeM qeYyfr `tYcp (q²¾eyf) ²¥¾v ApHcqfW Hc²¾ Yy dBr HzYc AWy cpO 
gcHpcp£ cphs MtHy JBy qHgy qW¥²¾ HY`p£ Yp ec²¾²¾ Hc} & 13=3 

9. ‘‘EZpc gHpcpW`H _vq`Hp AYp Hc gHYp h± &’’ Ydrdp£ Yy Hy qBg HX²¾ ²¥¾v 
E¨MW S¾qhcpG & 3 

Op£ 

‘‘EZpc ²¾HpcpW`H _vq`Hp AYp Hc gHYp h± &’’ Ydrdp£ Yy Hy qBg HX²¾ ²¥¾v 
E¨MW S¾qhcpG & 3 

10. qB§Hdy IyWr ^pmr IyWc qeM hr eZycy ctOJpc qHez \±Yp HrWy Op gHYy h²¾ ? 
qHgy qW¥²¾ WcrqHAp£ Yr qeApqIAp Hc} &  13=3 

Op£ 

_pcW qeM ŷc}kJpcr Yr g`qgAp ²¥¾v qHez Yvc HrWp Op gHYp h± ? qHgy qW¥²¾ 
WcrqHAp£ Yr qeApqIAp Hc} & 3 

11. ‘‘_pcW qeM ZcWr YrAp£ eI} e§I \oHpc YrAp£ _~-ApqnWrAp£ q`dYrAp£  
h²¾ &’’ qW¥² EYphcV Yy Hy HX²¾ ²¥¾v E¨MW S¾qhcpG &¾ 13=3 

12. gp²¥¾v HtYcWr gpZ²¾ gc}Wp£ Yr q²¾ap£\vcH AWy ghr U¥J ²¾pd ecW~ qHE¤ Hc²¾r 
MphrYr h± ? Ap\Vy qeMpc ²¥¾v g\fR Hc} & 3 
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13. q^oRy²¾ qHez qBH cpfRc-cpO Yy cv\ qeM h~Y qeM ApqBAp ? qeApqIAp  
Hc} & 3 

Op£ 
qeaW²¾p` qeM gHvd qHez cpO²¾rqWH AWy gq_ApMpcH g¥Kcf Yy AIpqmAp£ 
qeM ^Yd JBy ? qeApqIAp Hc} & 3 

14. ‘‘qkApYpWc gXp\W d}HW¥Wcr qeegXpep£ Yy gp`ªVy d}HW¥Wc Yy qegWpc Yr 
MtV¡Wr h± &’’ EYphcVp£ Yy Hy HX²¾ Yr \tfRr Hc} & 3  

15. E²¾ªses gYr qeM avc}\ qeM qHez ^qMAp£, qBgWorAp£ AWy Hpq`Ap£ (`OYvcp£) 
Yy Ycq`Ap²¾ e§Tr qJVWr qeM ²¾ez \pS¾H eZy ? EYphcVp£ gqhW qeApqIAp  
Hc} & 3 

Op£ 
A¡\q²¾eyqfH (^gWrepYr) gcHpc ²¥¾v gXp²¾H ^}dr qeM qd§Iy ²¾pedp£ qeM Yygr 
Ore²¾ AWy crWr qcepOp£ ²¾pd Otmr OpVHpcr Yp eT`t§dp gc}W qHez ²¾kc 
ApqBAp ? EYphcVp£ gqhW qeApqIAp Hc} & 3  

16. Yyf Yy ApcqXH qeHpg Yr crm Yy cv\ qeM q²¾c`pV-EYa}Jp£ Yr `hWWp Yp 
ec²¾²¾ Hc} & 3 

Op£ 
IyWr Yy qeHpg qeM EYa}Jp£ Yy a}JYp²¾ Yp ec²¾²¾ Hc} & 3 

17. cpO²¾rWr qeM OpW (ecV) qHez A²y¾Hp£ cv\ d± gHYr h± ? EYphcVp gqhW 
qeApqIAp Hc} & 3 

Op£ 
gpTy Yyf qeM ApkpYr q\§N~ qBgWorAp£ Yr AegXp qeM qHez gtZpc h}qBAp  
h± ? EYphcVp£ gqhW qeApqIAp Hc} & 3 

18. ‘‘d}HW¥Wcr qeegXp Yr eTr g³dWp q²¾a` A²¾®gpc AWy q²¾c\§I Mt²¾pep£ qeM 
h± &’’ qBg HX²¾ Yp qefdyfV Hc} & 3 

I¥T g 

19. _pcW ecJy e§Ty Yyf qeM qW¥²¾ gWcr gcHpc Yr `hWWp Yp ec²¾²¾ Hc} & 15=5 

Op£ 

g¥KepY YrAp£ qHgy \¥O qefyfWpep£ Yp ec²¾²¾ Hc} & 15=5 
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20. `hpW`p Jp£Zr Yy qeMpcp£ AWy gecpO Yr Zpc²¾p£ Yy ^pcy qeM \dp£Ryf²¾ 
`kYvcp£ Yr Ap\Vr g}M qHez gr ? qeApqIAp Hc} & 5 

Op£ 
_pcW Yy e§I} e§I _pJp£ qeM qHgp²¾p£ AWy ApqYepgrAp£ ²y¾ ‘²¾pq`decW²¾ 
A¥Y}d²¾’ qeM qHez qh§gp qdAp ? qeApqIAp Hc} & 5 

21. _pcWr IyWr^pmr qeM gtZpc qdApV Yy dBr _pcW gcHpc cphs HrWy JBy qHgy 
\¥O \o}Z}J²¾r (RyH²}¾d}Or) g¥̂ ¥Zr AWy g¥gXpJW (qB¥gRrR§avf²¾d) gtZpcp£ Yp 
ec²¾²¾ Hc} & 15=5 

22. 1920 Yy YhpHy Yy `tUdy g`y Yy Y¡cp²¾ A`crHr AcXqeegXp qHez Wykr ²¾pd 
Wc§Hr Hc²¾ dJr ? EYphcVp£ gqhW qeApqIAp Hc} & 5 

Op£ 
E²¾ªrer gYr Yy Y¡cp²¾ qB¥Jd|T Yy ^Opc qeM `kYvcr Yr ^htWpW Yp `kYvcp 
Yr qO¥YJr E\c qHh} qOhp Agc h}qBAp ? EYphcVp£ gqhW qeApqIAp Hc} & 5 

Op£ 

E²¾ªrer gYr Yy qB¥Jd|T Yy Kcp£ AWy HpcIpq²¾Ap£ qeM H}dy Yy e§Tr \§Zc Wy 
qBgWy`pd Hc²¾ Hpc²¾ qHez J¥_rc g`qgApep£ \±Yp h} JBrAp£ g²¾ ? 
EYphcVp£ gqhW qeApqIAp Hc} & 5  

23. ‘‘qHgy Yyf Yy A¥WccpfRcr e\pc ²¥¾v ApcqXH ^±c}`rRc qHhp Op£Yp h± &’’ 
Ydrdp£ Yy Hy qBg HX²¾ ²¥¾v E¨MW S¾qhcpG & 5 

24. hyS¾ qYWy cpO²¾rWH Ydp£ Yy M}V q²¾fp²¾p£ AWy g¥^¥ZW cpOp£ Yr gvMr ^VpG : 15=5 

(i) qfc}`Vr AHpdr Yd 

(ii) g`pOepYr \pcRr 

(iii) By.ApBr.By.Tr.By`.Hy. 

(iv) qWoV`vd Hp£Jcyg 

(v) cpfRcr O²¾Wp Yd 

25. ‘‘E\_}JWpep£ ²¥¾v ²¾pepO^ g¡Yy^pOr AWy f}fV Yy qectZ ²¾®Hgp²¾ Yr _c\pBr Yp 
AqZHpc h± &’’ HX²¾ Yr \tfRr Hc} & 5 
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I¥T Y 

26. (A) Y} d§NV ‘a’ AWy ‘b’ qY§Wy h}By _pcW Yy cpO²¾rWH cyIp `p²¾qM§Wc  
(\¥²¾p 7 Wy) qeM A¥qHW HrWy JBy h²¾ & qB²¾ªp£ d§NVp£ ²¥¾v hyS¾ qY§Wr 
OpVHpcr Yr `YY ²¾pd \NpV} AWy qB²¾ªp£ Yy ghr ²¾p`, `p²¾qM§Wc qeM 
qI§MrAp£ h}BrAp£ cyIpep£ E\c qd§I} : 12=2 

(a)  Eh Xp£ qO§Xy _pcWr cpfRcr Hp£Jcyg Yp AOdpg h}qBAp gr & 

(b) Eh Xp£ qO§Xy ²¾rd Yr IyWr Hc²¾ epdy qHgp²¾p£ Yp A¥Y}d²¾ ftcv 
h}qBAp gr & 

(B) qBg hr qYWy h}By _pcW Yy cpO²¾rqWH cyIp `p²¾qM§Wc qeM hyS¾ qdqIAp£ 
qeM~ qHgy qW¥²¾  ²¥¾v UtHez qMh²¾p£ cphs YcgpG AWy E²¾ªp£ Yy ²¾p` qd§I} : 13=3 

(i) hrcpHtT – ^¥Z (T±`) 

(ii) H}Mr – \o`tI g t̀¥Ycr ^¥YcJph 
(iii) gyd`¾ – d}hp AWy gRrd Yp HpcIp²¾p 
(iv) h±Ycp^pY – gp³Reyac RyH²}¾d}Or \pcH 

(v) ²¾c¡cp – q²¾FHqdAc \pec \dp£R   

²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 
26 Yy Xp£ ^Ydez \of²¾ h²¾ & qHgy \¥O \of²¾p£ Yy E¨Wc qYG : 

(26.1) Eg cpO Yp ²¾p` qd§I}, qO§Xy OqdAp£epdp ^pJ Yr KR²¾p h}Br & 

(26.2) Eg gXp²¾ Yp ²¾p` qdI}, qO§Xy ²¾rd Yr IyWr Yy dBr qHgp²¾p£ ²y¾ 
gqWApJcqh HrWp gr & 

(26.3) JtOcpW Yy Eg gXp²¾ Yp ²¾p` qdI}, qO§Xy qHgp²¾p£ ²y¾ gqWApJcqh 
HrWp gr & 

(26.4) Eg cpO Yp ²¾p` qdI}, qO§Xy ^±dp§cr d}hp-H§Mr ZpW YrAp£ IpVp  
gqXW h²¾ & 

(26.5) Eg cpO Yp ²¾p` qd§I}, qO§Xy H}Mr g`t¥Ycr ¥̂YcJph gqXW h± & 

(26.6) Eg cpO Yp ²¾p` qd§I}, qO§Xy ²¾c¡cp q²¾EHqdApc \pec \dp£R gqXW  
h± & 

(26.7) Eg cpO Yp ²¾p` qd§I}, qO§Xy YtcJp\tc d}hp-gRrd HpcIp²¾p gqXW  
h± & 15=5 
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\of²¾ g¥. 26 Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
   Outline Map of India (Political) 

 
 

 


